Part 1

Instructions.

o Check that this hooklet has pages 1 through _-?3. Also check that the
page is marked with EEE 2010 A 0.

+ This -pﬂ.]’t of the exiunination consists of 90
is followed Dy four possible

Hottom of eé,ch

multiple-choice questions, Each question
answers, at least one of wlhich is correct. If more than one

choice is correct, choose only the best one. Among the correct answers, the best answer

is the one that implies (or inclndes) the other correct answer(s). Indicate yeur chosen best
answer on the bubble-sheet by shading the appropriate bubbla, '
» For cach question, you will get 1 mark

if you choose only theshest answer. If you
choose none of the answers, then you

will get @ for that questien, However, if you
choose something other than the best

will get —1/3 mark for that question, -
¢ You may use the hlank pages at the end

do your calculations and irawings. No other pa

“Rough work” will not be read or checked.

answer or mlultiple answers, then you

of this Booklet, marked Rough work, to
per will'be provided for this purpose. Your

You may begin now. Good luek!

QUESTION 1. For the roal-valied fanetion fla) = o'~ da? ¢ 602 — 4o + 1, (defined for
all real numbers &), the point 2 £ 4vd ' :

(a) & local mininimn.

(b) a local maximn,,

(c) & point of infleckion

{d) none of the above.

QUESTION 2NConsider Lhe function f mapping poines of the plane into the plane,
defined by f(x, y)& (£ -y +4). The range of this funetion is :

(a} the 45 degree line,

(b) a ray through the origin but not, the a5 dngrm-. line.

(c} the entive planc, '-

(d) the st and thind quadeants,

QUESTION 3. Supposc {1, v2, ..., un} is 4 set of lincarly dependent vectors, none of

them being the zero vector, Suppose ¢y, ¢a,. .., ¢, are scalars, not all zero, such that

E;__l ¢ = 0. Then the minimum mumber of non-zero scalars is
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(a)
(b)

(¢) n—

B =

(d) cannot be det(‘mnnt‘tl

} '
y QUESTION 4. Suppqsu the notezero x4 colinmn veetor 2 solves the system of equations
3 Ax = b, where A is éan m x 1 matrix whosc ;('lJ]lllllllb‘ are the vectors g, ay, ..., 4y, and b
is an m x 1 column vector. Then the st of vectors {ag, ap, ... a4y, b} is
) (a) linearly independent.
) (b) linearly dependent.
) (¢) linearly depéndellt oulv if @y, ta, .. . a4, are linearly dependent.
) (d) linearly dep:ﬁendent ouly if i =n.
} QUESTION 5. Folf a systamn of linear cquations Az = h with i cgquations aligdyn variables,
) where m > n and b Is a given vector, the following iy true.
. (a) Tt can nv.vnrj have a imiqlw solntion.
( {(b) It always Ias al least oue solution.
} {¢) It has at least a one-dimensional solution S,
. {d) If Rcmk(A):# ne and wsolution exists, it pnst hodmiogne.
} QUESTION 6. Su_i)posc we are itiberested i estinatingthe mean height of M.A. students
?in Delhi University. ‘An average height ostimated fom o yandom sumple of size 30 is better
y  than that estimated;"i’rom A randon sunple 6 8ize 20 Lecauso:
. (a) The sa.mple;of size 20 15 likely Lo bEmore biased becausc it is less representative,
’ (b) The H&].Ill[)l(‘ of size 30 s likelydta yicld more precise estimates of average height
' than the sample of s'l'/e 200, '
(c) The Central Limit Theorem ]nvscn}u-w a mintomnn sanple size of 30,
(d) Both (a) d.ntl (h).
QUESTION 7. A-doctm' testing a diagnostic tool for a rare disease wants to minimize
the chance that thetest will lind a patient I.E;J he healthy wlhen she is in fact sick (the null
hypothesis being that the patient is heabthy). The doctor showld minimize the probability
of: '
(a) Type I Ul‘roi', which would denote a false positive.
(b) Type H error, which would denote a false positive,
(c) Type I error, which would denote a false negative. )
(d) Type II crror, which would denote a false negitive,
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QUESTION s, Suppose

1.2+ 0.5X. Which of the following is o good interpretation of the estitnated relationship
between X and ¥'? :

you have the following -estinmted regression equation: Iny =

(a) A wnit change in X is

associated with a 50 pereo
(b) A unit change in v is

ut change in Y.
associated with o 0.5 pereent ol

wmnge in V.
(€) A one pereent, clinnge in X ig

associated with a 50 unii. change i ¥,

(d) A one percent change in X 3 unit_change in ¥,

QUESTION 9. [t Ay, Az Ay be independent o
tively. The probability eal none of (),
(@) 1= (pr + py -+ 1y)
(B L~ (o1 +pa + py) + pyp
(€) (1= pi)(t = pp)(1 - P3)
() (1= p2)(1 + pypy)
QUESTION 10. The market for good X has the

where p is the price of good . X. There are
function ¢(q) = ¢2, whera

Is associnted with a ().

vents with probabilitics py;, p,, P3 respec-
ORC eVeNLs necurs equnds

T Py + papy.

demand” finction D(p} = 100 — 15p
ten prigd) taking firmg,
4 1s tho firm’s own Uutpﬁt.
costs are in terms of rupees per unit, T}

(&) Rs. 20
(b) Rs. 15
(¢) Rs. 10
(d} Rs. 5

QUESTION 11. The warketTor good X Las the demand
the supply function S(»m u.p 3p where
imposes a snles tax of R 16 707 unit, of the good on sellirs, e equilibrium market price
will increase hy |

(a) Rs, 10

(b) Rs. 7.5

(¢) Rs. 5

(d) Rs. 0

cach having a cost
There is no new entry. Prices and

1e equilibeinm price in this rnarket is

funciion D(p) = 100 —p and

7 is the price of good X, If the government

QUESTION 12. A monopolist, who can prodnce ouipid o cost of R
faces an inw:r:an

demand enrve siven hy p o= G 2¢. The

8. 20 per unit
profii. maxintizing price for the

monopolist js '

(a) Rs. 40

(b) Rs. 20

EBE 2011 4 0y

e

wr

p—

e

e

e



— - — — — — - P

—

}
)
)
)
}

¥

B it o LR R o T LS d SR L M TR R b e

(c)} Rs. 30
(d) Rs. 60

QUESTION 13. Consldcr a duopoly mcukv t in which both firms choose quantities. Sup-

pose we have the reaction enrve of each {ir m, tey the eurve that yields the firm}s optimal

quantity choice in response to a guantity chosen by the other finm. 1f one finn is the
Stackelberg leader and the other is the Stackelberg follower, then which of the following
conditions cha.ra.ctéri?'e\; the quantity (llOb(,Il ry the leader?

(a) The quaﬂtlty at which the:leader’s Isuprofit curve is tangential to the follower's
reaction curve.

(b) The quantity at which the follower’s isoprofit curve is tangential to the leader's
reaction curve, ' _

(c) The quantif;y where the leader’s isoj)mfit curve attains a maximum.

(d) The quantity where the two renction curves intersect.

QUESTION 14. A socicty has 3 individuals and 8 alternatives A, Bend ¢ Individuals
1 and 2 strictly prefer A 1o 3 and 12 1o O Individual 3 stricUly Orelfors C o 3 and B to
A. A Rawlsian social plainer would therefoge choose

(a) A. '

(b} B.

(c) C.

(d) AorC.

QUESTION 15. A natural monopoly is sald toOcecur when
(a) the long run average cost curve i Ussliaped.
(b) the long rutj average cost cirvelis decreasing,
(c) the long run average costowive is Hat,.

d) the long run average cesticirve is inereasing.
& )4

QUESTION 18. If cveryhoty (i the cconomy decides to consume i higher
their income, the corredporiding IS curve

(a) will be flattn

(b) will be steepor.

proportion of

{¢) will remain nnchanged.
(d) will become horizontal,

- QUESTION 17. Au mercase in the expec LuI rate of inflation will
(a) shift the LM curve np,
(b) shift the LM curve down,

EEE 2011 A 01 5




wEE T

e el L S L ne

(c) leave the LM curve unchange.

(d) have an ambignous offect on the LM eurve,

QUESTION 18. A tlevaluation of domestic currency will improve the country S trade
balance only if the following is true for price clasticitios of demarnd:
(a) the sum of price clasticitie

s of exports {mcl mnports equals 1
(b) the sum of price clasticitie

s of exports (mcl unports is loss than 1.

(c) the sum of price elasticities of exports and imports is greater than 1.

(d) the price elasticity of exports exactly mat(hea the

QUESTION 19, Unde
will be

price elasticity of imports.

r nominal wage rigidity, Lhe short run aggregate silpply schedule

(a) vertical.

(b) horizontal.

(c) upward slopings,.
(d) downward sloping.

QUESTION 20. Okun's Law refers to

(a) a negative relationship hetween inflation and unemployment,
(b) a negative relationship between une

(c e and money demand.

mp[oymont and real GDP,
)
(d) a negative relationship between infatibn and growth.

8 negative relationship between interest ra.t

End of Part I

Proceod to PargIT of the examnination on the noxi page.
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Part 11

Instructions.

e This part of the examination congists. of 40 multiple-choice questions. Each question
is followed by four possible answers, at least one of which is corvect. If mord than one
choice is correct, chioose only the best one. Among the correet answers, the best answer |
is the one that inlﬁlies (or includes) the other correct answer(s). Indicate your chosen best
answer on the bubble—sheet by shading the appropriate bubble.

» For each quéstion, you will get 2 marks if you choose only the best answer. If you
choose none of the answers, then you will get 0 for that question, However, if you
choose somethiﬂg other than the best answer or multiple answers, then you
will get —2/3 mark for that question. -

The following notational conventions apply wherever the following®&ymbols are
used. R denotes the set of real numibers. R, denotes the set of positive real niumbers.

@ denotes the set of rational ninbors,

QUESTION 21. Suppose the function [ i Rey — R ixgiven by f(z) = flm t=1dt.

- Consider the follovﬁé'ing statements: for z,y € Ry,

Fl+y) = ) + Fn) (i)

e 205 rw (i)

In general, :
(a) (i) is true and (i} is Mol
(b) (i) is false and (#7) i3 bruc.
(c) Both are true.
(d) Both are false,

QUESTION 22. Supposc a real valued funetion f is defined for all real numbers excepting
0, and satisfies thé_ following condition: f(xy) = f(2) + f(») for all @, ¥ in the domain.
Consider the statements: ?

Sy =J(=1)=0 (4)
Ja) = J(=a) for every @ (32)
KER 2!)” A 01 7
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(a) (3) is true and (#2) is falsc.
(b) () is falsc and (#1) is truc.
(c) Both are iruc.

- (d) Both are false, -

QUESTION 23. The closest point on the parahola 3 == 1
the vertical axis, with b > 0, is the origin if and
() b< 3
b)o>3
(c)b<2
(d) b>2

QUESTION 24, Lot f
Consider the function F defined by F(z) =
then on that interval F iy

(a} convex

(b) concave

(c) increasing

(d) decreasing

QUESTION 25. Conside

only if

rthe function f : § "R defined by
f(z) = 22 lifzeQ
> L0¢  otherwise

where Q is the set of rational numbSs, Then, fis
(a) discontinuouy at everyar 3£ (), ‘
(b) is continuous at ] points in Q.
(c¢) continuons at withiple points.

(d) is discontinnens on » countable set of points,

QUESTION 26. Suppove A and B are Square matrices that satisfy

’ AB+BA:O

, where 0 is a Square matrix of zeros. Then it must be that
() AB% = pip2
(b) Asz = B2 43
(c) A’B® = pat

(d) None of the above is necessarily true,
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The next four questlons are based on the following data. Consider Society

consisting of individuals. These individuals may belong to various sets called Clubs and

Tribes. The collections of Clubs and Tuhes satisty the following rules:
¢ The cutire Snc ity is a Tribe.

o The cmpty wubset of Society is also a ‘Tribe.
wetion of Tribes. the set of individuals who helong o cach Tribe in

o Given any coH(

that collection is also a Tribe.
4 o Given any two Tribes, the set of mthvuhm}s who beloug to at least one

- - Ly ey e - j— — -

of these

)  Tvibes is also a Tribe, ;
o A set of individuals is called a Club if and only if the st of individuals not in it

constitute & Tribe.

) QUESTION 27. The intersection of th: Clabss is necessarily

) (a) a Club
) (b} a Tribe
) (c¢) not a Club
) (d) not a Tribe
} ’ QUESTION 28. The union of a collection of Clubs, igocessarily
) {a) not a Clgb |

(b) not a Tribe
} (c) a Club
' (d) a Tribe -
3 QUESTION 29 Which of thefollowing statemients is necessarily true?
% (a) A set of individualscanpol be a Iyibe and a Club.
) (b} There arc at lésh two sels of individuals that are both o ( lub and a Tribe.
} (¢) The union GECTub and a Tribe ix o Tribe.
; (d) The intérsection of a Chih and A Tribe is a Club.
' QUESTION 30. Suppose we arce given.a Club and a Tribe. Then, the sct of individuals

who belong to the given “vibe bat not to the given Club necessarily constitnte

(a) a Club -

(b) & Tribe.

(c) neither a Club, nor a Tribe )
! (d) a Club :em(l a Tribe
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The next two questions are based on the following information. Suppose X and
Y are two random varinbies, X can take vahios =1 and 1. vV can take: integer values )
between 1 and 6. The following is the joint probability distribution of X and Y. )
V=T 1¥=2 [ ¥Y=§ [ ¥y=i 7= Y =6 )
X =-] 0.1 a 0.3 0 0 0 )
X =1 0 0 b 0.1 0.1 - 0.1
It is known that the expectations of the two random variables are E(X)=-0.2 and )
E(Y) =3.2. Then ' )
QUESTION 31. The value ‘@’ in the table equaly ; )
(a) 0 f : )
(b) 0.1 ;' )
(¢) 0.2 }
(d) 0.3 : :
; : | )
QUESTION 32. The value b in the table oquals ' _'
(a) O : }
(b) 0.1 | ; )
(c) 0.2 ; ' jE )
(d) 0.3 ' .1
. ")
The next two questions are based on the fdllowing data. Suppose X and ¥ are
independent. randout varinhlos that followpthe nuiforus distribution on the. interval [0, 1.
Let Z = min{X, v}, | ‘
: }
QUESTION 33. ’r(Z ~ 0.5)(bhe probability that Z is loss Lhan 0.5) oquals ,
(a) 0.25 '
(b) 0.5 ’
(c) 0.625 )
(d) 0.75
QUESTION 34! DPi(Z « 0.5[X = 0.75) is j ;
(a) 0.25 :

(b} 0.5
{) 0.625

(d) nndetined,

QUESTION 35. Two players, A and B, wil]

play a best of seven table tem_ﬁs match (i.e.,
the first to win 4 g

ames will win the match, and the match will have at most 7 garmes).
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- The two players are equally likely to win any of the games in the match. The probability

that the match will end in 6 games is _
(a) less than the probability that it will end in 7 LAMES.
(b) equal to the probability that it will end in 7 games.
{c) greater th%m the probability thiat it will end in 7 gamnes.
(d) None of (o}, (b) or (¢) is truc.

QUESTION 36. In order to join the *Gamers Club’, Mr. A must choose a box from the
two identical boxes i a room, and draw one ball from the chosen box. Al he knows is
that both boxes are nonempty, and have n;mix of red and green balls. If the bsll that he
draws from his chosen box iy green, he is adiitted to the club., You are given 2 identical
boxes, 50 red balls aud 50 gl'{:eu.bzmlls, and:asked to allocate these balls to the fwo boxes
in order to maximize-Mr. A’s probability of being admitted to the club, giverdythdt he will
choose a box randomly. If you allocate these balls correctly, the probabilify that Mr. A
gets admitted to the club equals '

(a) 1

(b) 0.747

(c) 0.547

(d) 0.257

QUESTION 37. E-Consider the following eqnation o be estimated using ordinary least
squares:
Y = ag + (LlXi + {IQX;g + rﬂ;;(.}i’z - Xl)'+ U..1X1X2 -+

Which of the following stateiients isstruo?

(a) The param;etcrs Gy, tp, ey, g g e estimated, but not gy,
(b} The paramcters ag abtd a@uihe estimated but 1ot Ty, Ly, €.
(c) The parameters ay, «;, dagapéan he estimated, but not gy,

(d) All paraméters can Bolestiinated.

QUESTION 38. A rgsearCher wamts to test whether there are gender ditferences in the
rates of immuniza.tjon for boys aud girls, alter controlling for parental income, mother’s
education and accefss t0 health care facilitics. The casicst way to test this would be to:

(a) Include onc}. dunnny variable in the mdtiple regression.

(b) Include two duniuy variables in the wultiple regression.

(c) Include interaction dwumics in the nultiple rogression.

(d) Run two separate regressions-one for boys and one for girls,

QUESTION 39. Instoad of estimating a production function y = r;;, + oy N+ ayL 4y,

where y is output, A is capital input and L is labour input, o researcher estimates 1y =

R 2011 A 01 11
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ag + a1 K + u. It is known that in the true model, (1,3 > Uand A and L are complements.
Which of the following is true?

(8) The estimatad «; will be upwardly biased. |

(b) The estimated ) will Liave a downward bias,

: ]
(¢) The estimated a; will be biased, but the direction of bias cannot be determined. \
(d) The estimated n; will be unbiased, hut ay will he hm.aod
QUESTION 40. A student has the opportunity to- take a test at most thricc. The student _
knows that each time he takes the test, his score is an independent random draw from the ]
uniform distribution on the interval [0, 100]. After learning his score on a test, the student
can either stop and ac cept it as his official score, or hv ean diseard the result and rctake the }
test. If the student rejects: his score twice and takes the test a third time, that score will )
be his official score. If his objective is to maximize his expected @fficial score, the student
will decide to he rotosted aftor the very first tost if and only if his s€ore is less than
(a) 50 :
(b) 62.5 )
(c) 75 . : : )
(d) 87.5 : ; f' \
QUESTION 41. A consuiner has utility flln(hml wlryag) = min{2z) + a5, 3, + 22,3, )
Her income is 3 = 100, the prices are p; = 20 pp = 3. The amount of 27 in the utility
maximizing bhundle s f - o }
(a) 7 : '
(b) 5 )
(©) 2 | ;
{(d) 0 | : )
QUESTION 42. Comsider the same utility function and income as above, but suppose .
the prices are py, =10 and Pz = 30. Then the amonni of. ay in the 11t111ty maximizing :
bundle is ' )
(a) 10
(b) 5
(c) 2.5 | |
(d) 0 . ’

QUESTION 43, A consiuner spends Rs. 100 on only two goods, A and B. Assume non
satiation, i.c., more of any good is preferred to less. Suppose the price of B is fixed at
Rs. 20. When the price of A is Rs. 10, the conswiner buys 3 units of B. When the price of
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A is Rs. 20, she buys 5 units of A. From this we can conclude that for the relevant price
range

(a) A is an inferior good.

(b) Bis a coﬁplcumnt of A. _.

(¢) A is o Giffen good. j '

(d} All of thie above. :

QUESTION 44. Consider s finn using two inputs to produce its cutput. It is known
that greater use oi_f both inputs increases output, Morcover, for any combination of positive
input prices, the firm aimploys an input combination of the form {(x, ) where @ > 0 is a
constant. Which of the following ftmctiun.éi represents this firm’s technology?

(2) f(z,y) =min{a,y}

(b} flz,¥) = min{cvr, y}

(c) flz,y) = min {x, ey}

(d) f(z,y} = min{z, y"}
QUESTION 45, Cousider an exchange economy with two agents, §and 2, and two goods,
X and Y. There are 6 unils of X and L anits of ¥ available. ¥ An allocation is denoted
by (z1,11), (w2, y2), where (u),p) is agent Ps consumption buudle, (zy,4,) is agent 2's
consumption buI{dle, 1+ xe = 6 and 1 + 42 = 4. Agent 1 has the utility function
uy{z, ) = min:{:;,'l,'_r;l} and agent 2 has the utilitysfanction wy (e, 12) = min{zy, ya2}.
Which of the foll¢wi11g; allocations is not Parcto cfficient?

() (2,2),(4,2)

(b) (3,2),(3,2)

(d) (1,2), (5:2)

QUESTION 46. Consider awexchange cconomy with two agents and two goods. The
agents have the same prefesetices as in the previous question. Agent s endowment is
(0, ) and agent 2's engdowment is (4,0). What is generally true?

(a) Any allocation in which each agent gets equal amounts of the two goods is an
equilibrium allocation. |

(b)) If g < a,-thcu the price of X is 0.

{c) If 8> o, then the price of X is 0.

{d) Any a.lloéatiun in which agent 2 gets none of good Y is an equilibrium allocation.

QUESTION 47. Consider an exchange cconomy with two agemts and two goods. Agent
2’s utility is as above. The cquilibrium allocation is (2, y,) = (0, 1Y and (z2,42) = (4,4).
The equilibrinm prices are (1, 1). What could be the endowment?

it 2001 A 8f 13




(a) Agent 1’s endowment is (2,5) and agent 2°s endowment is (8,0). —

(b) Agent 1's endowment is (7,0) and agent 2 endowmeént is (3, 5).

(c) Both (a) and (b). |
(d) Neither (a) nor (b). ’

QUESTION 48. A firm has an order to sup

ply 20 units of output. It cé.n divide its
production across two different plants, 1

and 2, with cosi. frunctions ¢, (1) = ¢f and ca(qq) =
32 respectively. The total order must be produced, i.e., ¢ + ¢p = 20. To meet the total

production target at minimum cost, the amount of output the firm should produce in its
first plant is | ‘

(a) 20 units.
(b) 15 units,
(¢) 10 units.
(d) 5 units.

QUESTION 49. Consider an exchange econom
ment (10,10). The agents’ utility funetions are
222 + 2. Examples of efficiont allocations are
(@) (1,51} = (5,10) and (w4, 372) = (5,0)
(b) (=1, 11} = (1, 10) and (@2, 12) = (10,0)
(€) (z1,91) = (0,5) and (24, ) = (10, 6)
(d) Al of the above,

Y with twe dfents and aggregate endow-
w1 (2l) # &1 + 2y and ug(T2,y2) =

QUESTION 50, Consider the following

two giunes in steategie forn.

Hawk : Hawk Dove
Enter -l and Euter -1,1 3,3\
Not enter 0,6 Not entor 1,6 0,7

Compute the Nagh eqdilibri

a of the two games. What general lesson can be drawn from
these equilibria? : '

(a) Eliminating a strategic option may be beneficial.
(b) Having extra strategic options is not beneficial,
(c) Having extra strategic options is beneficial.

(d} Elimihating a strategic option is henelicial, -

QUESTION 51. Suppose the following equation holds for an cconomy, at every time £
Py =(1+a) _H_}\Lf',& '
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That is the price of output is a fixed markup over unit labour cost. Let 7 be the infla-
tion rate, w be the wage inflation rate, and A be the rate of growth in labour productivity.
(Labour productivity = Y;/N;). Which of the following is true?

(a) w=m— A

My m=1w+A '
()mr=w— A
[d)w=/\~?r

y The next three questions have to do with the following fixed price model of an

economy.
) C=Ch+ec(¥Y-T7),0<ey <1
‘ I=ig+1ym, i) <0
) Y=C+I+G
) M =my + n;‘a,lY + T, T < () < mj
M? =M, ‘
] where C| I, G‘ Y, M‘ M are respeetively, aggregate consumption, investinent, govern-
} ment expendltuw - output money demand, and wmoney stock,
} QUESTION 52. In this cconomy, an increase in G
' {a} necessarily reduces /.
y (b} may increase I.
\ (¢) reduces I ion_ly if 7y ds large.
(d) increases I only if 71 is sinall.
! QUESTION 53. The more negative is‘ofy ceteris paribus,
3 (a} the greatei‘ the effect of an inc:reasé in G on 7.
) (b) the smaller the ffect ofan iticrease in G on 1,
; (¢) The Inagnitu(le of theyficet of G on » does not depend on the magnitude of mag.

(d) r decrease’s as (dngreases, but the magnitude of this is indetenminate.

,  QUESTION 54. 1f dpishve ry close to 1, then an merease in M s
(a) a very largespositive impact on 7.
{b) a very small positive effect on r.
(c) a very small negative cffect on 1.

; (d) a very large negative impact oz 7.
i The next six quéstions are based on the following information. Consider an econ- ,

. omy in which aggrefga.te outpitt is produced hy using 2 factors, capitel K and labour L. Ag-
gregate produ(:tfung teclinology is given by the production function: Y, = A{K ) (L) =

»
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where A > 0 and0 < o < 1. At each instant t, both

factors are fully em ploj?ed. A constant
proportion s of Lotk

al output is saved and invested i avery period, which

al"ugmcnts the
capital stack in the next_period. There s no depreciation of capital. Labour force grows
‘&t 8 constant raten. Lot A = 20, o = 1s=1 ;

= 1 .
3 ar " =15. Thoen

QUESTION 55. The steady state level of out
(a) 50
(b) 1000
(c) 2500
{d) 5000

put per worker is

QUESTION 56. The rate
(2) 0
(b) §
() 3
(d) & |
QUESTION 57. The golden rule val
(a) 25
(b) 2500
() 5000
(d) 10000

of growth of aggregato dlli;pllt. in the steady state is

ue of capital per worker is

QUESTION 58. The
(a) 500
(b) 1000
(c) 250
(d) 25

golden rulg levelof consumption per worker is

QUESTION 59 An4ncrease in the value of the parameter A frow its current value
(a) will increasé the steady state lovel of output per worker I
rate of aggregate output in the steady state.
(b) will decrease the steady sta

and increase the growth

te level of ontput per worker and increase the growth
rate of aggregate output in the steady state, _:
(¢) will increase the steady stabe loval of oubpt per worker and leave un:chmlgcd the
growth rate of aggregate output in the steady state. '

(d) will decrease the steady state level of,outpuﬁ per worker and leave unchanged the

growth rate of aggregate autput in the steady state.
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) QUESTION 60. An increase in the value of the parameter n from its current value
) () will incréase the steady state level of output per worker and increase the growth
__ rate of aggregate output in the steady state.
) (b) will decrease the steady state level of output per worker and increase the growth
) rate of aggregate output in the stendy state. '
y (c) will increase the stoady state level of output per worker and leave unichanged the
) growth rate of aggregatt: output in the steady state.

(d) will dc-:créa,sc the steady state level of output per worker and leave unchanged the

). growth rate of aggregat:z output in the steady state.
) _
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